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ZESTAWIENIE

POWIERZCHNI UZYTKOWEJ

MIESZKANIA 2:

Il poziom

PIETRO: | poziom

1. Pokéj dzienny -19.00 m?;
2. Aneks kuchenny - 940 m?
3. Pokoj -11.20 m?;
4. Pokgj - 840 m?
5. tazienka - 3.90 m?%
6. Przedpokdj z garderobg - 13.60 m2;
65.50 m2.
Balkon - 6.30m?%
Balkon - 6.30 m%,
PODDASZE: Il poziom
1. Pokéj dzienny - 14.35 m?;
2. Sypialnia - 760 m?
3. Pokgj - 970 m?%
4. Pokgj - 6.90 m?%
5. tazienka - 6.15m?%
6. Przedpokdj z garderobg - 11.30 m2;
56.00 mZ.
Balkon - 6.30 m%
Balkon - 6.30 m?%;
LACZNIE POWIERZCHNIA: 121.50 m2
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